

HOUGANG PRIMARY SCHOOL PRIMARY 6 (HMT) BOOKLIST FOR YEAR 2022

P6 (HMT)

Name of Pupil:	Class:
----------------	--------

Subject	Title of Book	Publisher	Tick	Price\$	S.Total\$
School	HGP Stellar Worksheets P6	School Material		5.50	<u> </u>
Worksheets	What's Up Newspaper (1 WHOLE YEAR)			25.20	1
	HGP Science Worksheets P6 (STD)	School Material		6.30	i
	HGP Chinese Worksheets P6	School Material		8.00	1
	练习报 - 新列车 (1 WHOLE YEAR)	E-COM Pub.		26.80	1
	HGP Malay Worksheets P6	School Material		5.40	1
	HGP Tamil Worksheets P6	School Material		8.00	1
	(TO BE PAID. ITEMS WIIL BE GIVEN TO PUPIL BY TEACHER.)				85.20
English Language	English Listening Comprehension & Oral P6 (Standard)	Marshall C		6.75	
	PSLE English Exam Papers (2019-2021) NEW!	EPH		NFY	6.75
Mathematics	My Pals Are Here ! Maths Pupil's Book 6A (3Ed)	Marshall C		7.70	
	My Pals Are Here! Maths Pupil's Book 6B (3Ed)	Marshall C		6.20	1
	My Pals Are Here! Maths Workbook 6A (3Ed)	Marshall C		6.30	
	My Pals Are Here! Maths Workbook 6B (3Ed)	Marshall C		5.40	1
	My Pals Are Here! Maths Homework 6A (3Ed)	Marshall C		7.20	
	PSLE Maths (Yearly) Exam Papers (2019-2021) NEW!	EPH		NFY	32.80
Science	My Pals Are Here! Science P5&6 Textbook-Energy (3Ed) (Alrdy Purchase In P5)	Marshall C		2.50	
	My Pals Are Here! Science P5&6 Textbook-Interactions (3Ed)	Marshall C		5.50	
	My Pals Are Here! Science P5&6 Workbook-Energy (3Ed) (Alrdy Purchase In P5)	Marshall C		1.20	
	My Pals Are Here! Science P5&6 Workbook-Interactions (3Ed)	Marshall C		2.30	
	PSLE Science (Yearly) Exam Papers (2019-2021) NEW!	EPH		NFY	11.50
Social Studies	Social Studies Textbook 6A NEW!	Star Pub		2.25	
	Social Studies Textbook 6B NEW!	Star Pub		2.15	
	Social Studies Activity Book 6A NEW!	Star Pub		1.20	
	Social Studies Activity Book 6B NEW!	Star Pub		1.20	6.80
Physical and Health Education	An Active and Healthy Me Primary 6 (Revised Edition) *	Child Education		2.75	2.75
Higher Chinese	Higher Chinese For Pri Schools (欢乐伙伴)Textbook 6A	Marshall C		2.95	
Language (HCL)	Higher Chinese For Pri Schools (欢乐伙伴)Textbook 6B	Marshall C		2.85	1
	Higher Chinese For Pri Schools (欢乐伙伴) Activity Book 6A	Marshall C		2.85	1
	Higher Chinese For Pri Schools (欢乐伙伴) Activity Book 6B	Marshall C		2.85	1
	HansVision Creative Knowledge E Dict PX2201 -Can Be Others Approved E-DICT (FOR E DICT-NEED NOT PURCHASE IF BOUGHT IN P5)	Creative		89.00	
	PSLE Higher Chinese Exam Papers (2019-2021) NEW!	EPH		NFY	1
	PSLE Chinese Exam Papers (2019-2021) NEW!	EPH		NFY	100.50
Character and	Character and Citizenship Education (Chinese) Textbook P6 *	Marshall C		5.15	
Citizenship (CL)	Character and Citizenship Education (Chinese) Activity Book P6 *	Marshall C		1.60	6.75
Higher Malay	Higher Malay Language For Pri Sch (Cekap) Textbook 6A	Marshall C		3.80	
Language (HML)	Higher Malay Language For Pri Sch (Cekap) Textbook 6B	Marshall C		3.60	1
(Only For Pupils	Higher Malay Language For Pri Sch (Cekap) Activity Book 6A	Marshall C		3.50	1
Taking HML)	Higher Malay Language For Pri Sch (Cekap) Activity Book 6B	Marshall C		3.25	
	Kamus Dewan Edisi Keempat Paperback (Malay Dictionary) (FOR ML DICT-NEED NOT PURCHASE IF BOUGHT IN P5)	MPH		27.60	
	PSLE Higher Malay Exam Papers (2019-2021) NEW!	EPH		NFY	1
	PSLE Malay Exam Papers (2019-2021) NEW!	EPH		NFY	41.75
CCE (ML)	Character and Citizenship Education (Malay) Textbook P6 *	Marshall C		5.10	
, ,	Character and Citizenship Education (Malay) Activity Book P6 *	Marshall C		1.60	6.70
Higher Tamil	Higher Tamil Language For Pri Sch (Theen Thamizh) Textbook 6A	Marshall C		3.05	
Language (HTL)	Higher Tamil Language For Pri Sch (Theen Thamizh) Textbook 6B	Marshall C		2.85	1
	PSLE Higher Tamil Exam Papers W/Answer (2019-2021) NEW!	EPH		NFY	5.90
Tamil Language	Tamil Language For Pri Sch (Theen Thamizh) Textbook 6A	Marshall C		3.05	
(TL)	Tamil Language For Pri Sch (Theen Thamizh) Textbook 6B	Marshall C		2.90	
	Tamil Language For Pri Sch (Theen Thamizh) Workbook 6A	Marshall C		3.30	
	Tamil Language For Pri Sch (Theen Thamizh) Workbook 6B	Marshall C		3.10	
	Tamil Language For Pri Sch (Theen Thamizh) Student Reader 6A Bk1-4	Marshall C		5.40	
	Tamil Language For Pri Sch (Theen Thamizh) Student Reader 6B Bk1-4	Marshall C		5.40]
	Tamil Oral Exam Guide For PSLE	Marshall C		9.10]
	Lakshmi's Learners' Tamil Language Dictionary (Revised Edition) (FOR TL DICT-NEED NOT PURCHASE IF BOUGHT IN P5)	Lakshmi Pub		19.30	
	PSLE Tamil Exam Papers (2019-2021) NEW!	EPH		NFY	51.55
Character and	Character and Citizenship Education (Tamil) Textbook P6 *	Marshall C		5.10	
	Character and Citizenship Education (Tamil) Activity Book P6 *	Marshall C		1.60	6.70



HOUGANG PRIMARY SCHOOL PRIMARY 6 (HMT) BOOKLIST FOR YEAR 2022

P6 (HMT)

Name of Pupil:	

A. Textbooks/Workbooks

Subject	Title of Book	Publisher	Tick	Price\$	S.Total\$
Reference	Grammar Practice P6 (3rd Edition) (U/P \$8.45)	Marshall C		6.80	
Optional Items	Science PSLE Revision Guide (3Ed) (U/P \$18.75)	Marshall C		15.00	1
	Primary Science Revision Essentials P5&6 Book A (2Ed)	Marshall C		10.60	1
	Primary Science Revision Essentials P5&6 Book B (2Ed)	Marshall C		10.60	1
	Conquer Vocabulary For Primary Levels Workbook 6	SAP		10.20	1
	Learning+English Vocabulary Workbook 6	SAP		10.20	1
	Chinese PSLE Revision Guide (2Ed) PSLE 华文应考手册 (第二版)	Marshall C		10.30	1
	Chinese Oral Exam Guide For PSLE 口试精编	Marshall C		9.10	1
	A Handbook of Higher Chinese Vocabulary For Primary P6A	SAP		5.30	1
	A Handbook of Higher Chinese Vocabulary For Primary P6B	SAP		5.30	1
	HansVision Creative Knowledge E Dict PX2201	Creative		89.00	1
	Besta E-Dictionary-ALL PASS 5	Besta		64.90	1
	Longman Dictionary of Contemporary English (6th Edition) Paper	PM Associates		43.35	1
	New Century Chinese Dictionary for Students 新世纪学生华语词典@	Scholastic		14.30	304.95

Remarks

- 1) Parents are strongly encouraged to purchase through our website: www.pacificbookstores.com to ensure correct edition of books.
- 2) PLEASE NOTE THAT ITEMS ONLINE PURCHASED ARE NON-REFUNDABLE.
- 3) Price stated is inclusive of GST (GST Reg No. 199905993R). NFY stands for item price Not Fixed Yet.
- 4) * denotes books final year used by MOE in year 2022.



HOUGANG PRIMARY SCHOOL PRIMARY 6 (HMT) STATIONERY LIST FOR YEAR 2022

P6 (HMT)

B. Exercise Book & Stationery General QTY Tick Prices Totals	Name of Pupil: Class	ss:			
General					
HGP Exam Pad					
High RA Single Line Exercise Book (FSC)			Tick		
Sharp Scientific Calculation(El-W3318) Shirp Edition					
HGP 82D Ring File With S Col Divider (Red.) - English					
High PS/252 Ring File (Crey) with 5 Colour Divider					
HGP 82D Ring File (Care) to SIGNED					
HGP 82D Ring File (Chrange) SCIENCE					
HGP Student Portfolio (Black) (FOR NEW STUDENT ONLY)					
Dofford Math Set					
Ad Whitehoard Set					
Commit Black Stick Exam Grade 28.12's 1 2.80 2.80 1 2.95 2					
HGP Handbook (2022) (COMPULSORY)					
Sub Total 72.75 Total\$ Total\$,				
Chinese Language	HGP Handbook (2022) (COMPOLSORY)	1	6		
HGP Chinese Compo Pad			Sui	o rotar [12.15
HGP Chinese Compo Pad	Chinasa Languaga	ОТУ	Tick	Price\$	Total\$
HGP A5 Medium Square Exercise Book (FSC)			TICK		
HGP 82D Ring File With 5 Col Divider (Yellow) - Chinese / Tamil					
Malay Language					
Malay Language	THOI OZD TRINGTHE WIRTO OCI DIVIDE (TOROW) OTHEROSE / TORINI	'	Sul		
HGP AS Single Line Exercise Book (FSC)			Ou	o 10ta. [0.00
HGP AS Single Line Exercise Book (FSC)	Malay Language	ОТУ	Tick	Price\$	Total\$
HGP 82D Ring File With 5 Col Divider (Green)- Malay					
E300 Subject File (Green)					
Tamil Language	. , ,	•		-	
HGP AS Single Line Exercise Book (FSC)	2000 Gubjoot File (Grootly	<u> </u>	Sul		
HGP A5 Single Line Exercise Book (FSC)					
HGP 82D Ring File With 5 Col Divider (Yellow) - Chinese / Tamil	Tamil Language	QTY	Tick	Price\$	Total\$
Art Materials (Compulsory Items)		2		0.70	1.40
Art Materials (Compulsory Items)	HGP 82D Ring File With 5 Col Divider (Yellow) - Chinese / Tamil	1		4.70	4.70
A3 20 Pockets Clear Holder (IF YOU DID NOT PURCHASE) 1 7.80 7.80		•	Su	b Total	6.10
A3 20 Pockets Clear Holder (IF YOU DID NOT PURCHASE) 1 7.80 7.80					
Flexi A3 Mesh Bag		QTY	Tick	Price\$	Total\$
ESPP A4 Sketch Book (PP Cover) Blue		1			7.80
OMNI A4 Drawing Block 135gsm, 20 Sheets	1	1		3.85	3.85
HGP Drawing Journal	,	1			
Staedtler Coloured Pencil Noris Club 144 Aquarell 24 Col 1 9.90 9.90	, ,				
Staedtler Noris Club Jumbo Oil Pastels,24 Cols (UP:\$9.85)		1		4.00	4.00
EDU3 Drawing Pencil 3's (2B, 4B, 6B) And 1'sPaper Stump In Polybag		1			
Apron Skyblue		1			
Staedtler Double-Ended Brush Pens 12'S Assorted Colours 1 10.00 10.00 Pilot Twin Permanent Marker Black 1 1.50 1.50 Sub Total 57.65 School Shoes QTY Tick Price\$ Total\$ Shoes 2196 (Black) Velcro All Size 1 17.90 17.90 Sub Total 17.90 Sub Total 17.90 Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00 School Sock XL Sock Size X		1		2.70	2.70
Pilot Twin Permanent Marker Black	1 ,				
School Shoes QTY Tick Price\$ Total\$ Shoes 2196 (Black) Velcro All Size 1 17.90 17.90 Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00					
School Shoes QTY Tick Price\$ Total\$ Shoes 2196 (Black) Velcro All Size 1 17.90 17.90 Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00	Pilot Twin Permanent Marker Black	1			
Shoes 2196 (Black) Velcro All Size 1 17.90 17.90 Sub Total 17.90 Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00			Su	b Total	57.65
Shoes 2196 (Black) Velcro All Size 1 17.90 17.90 Sub Total 17.90 Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00		lon/	- .	- A	-
Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00			Tick		
Optional QTY Tick Price\$ Total\$ School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00	Shoes 2196 (Black) Velcro All Size	1	C		
School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00			Su	o rotar [17.90
School Sock Size S (Black) 5 2.20 11.00 School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00	Ontional	IOTV	Tick	Dricati	Totale
School Sock Size M (Black) 5 2.20 11.00 School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00	•		TICK		
School Sock Size L (Black) 5 2.20 11.00 Sock-Plain Black XL 5 2.60 13.00	. ,				
Sock-Plain Black XL 5 2.60 13.00	, ,			-	
	, ,				
	OOM FIGHT BIRON AL	3	Sul		

Total amount for all sections B = _____



HOUGANG PRIMARY SCHOOL PRIMARY 6 (HMT) STATIONERY LIST FOR YEAR 2022

P6 (HMT)

Name of Pupil:	Class:			
C. Ontional Itama				
C. Optional Items	lo Tv	T = 1 - 1 -	D.: 6	T - 4 - 16
Items	QTY	Tick	Price\$	Total\$
A3 Art Bag	1		7.50	7.50
Omni Poster Col 12cc B, 18 Colour with Gold + Silver	1		12.90	12.90
OMNI Golden Nylon Brushes,PR (R6/R10/F12) In Sushi Case (UP:\$ 20.90)	1		7.90	7.90
OMNI Mixing Palette, 6 Wells	1		1.00	1.00
Omni Paper-Stump, 3 Sizes Pack	1		2.50	2.50
Stationery Set	1		5.90	5.90
A4 Expanding File with Handle	1		7.30	7.30
PVC Jotter Book Cover	1		0.60	0.60
PVC A5 Exercise Book Cover (10pcs)	1		2.60	2.60
PVC Book Wrapper Roll 13.5 Inch x 10M	1		3.90	3.90
Customiszed Textbook & Workbook Cover For Primary 6	1		13.00	13.00
Jotter Book Plain (FSC)	1		0.60	0.60
A6 Blue Note Book	1		0.40	0.40
Pentel Back To School Stationery Set 2022 Primary (UP: \$7.45)	1		5.00	5.00
UNI Back To School Stationery Set 2022 Primary (UP: \$6.70)	1		5.70	5.70
Pilot Back To School Stationery Set 2022 For Primary (UP: \$12.95)	1		7.50	7.50
Zebra Pen And Marker Value Pack For Y2022	1		9.50	9.50
	Total	for Se	ction C	93.80
			_	

Total amount of purchase for all sections =

Website Launch Date: 10/11/2021

Website Closing Date: 13/12/2021 (Subject to slot availability)

Home Delivery

Please purchase online at www.pacificbookstores.com.

Payment via VISA/ MASTERCARD/ Debit Cards, PayNow. Delivery Charge of \$13.80 applies.

Self Collection

NO WALK-IN SALES

Please be inform that all purchase of books and stationery can only be made via our online website:www.pacificbookstores.com. Home Delivery or Self-Collection only. No walk in purchase will be allowed in view of School's initiative to comply to COVID 19 Safe Distancing measures.

23/11/2021	Tue	Collection for Online P1	06/12/2021	Mon	FAS Only	20/12/2021	Mon	Collection for Online Order
26/11/2021	Fri	Collection for Online P2-P3	07/12/2021	Tue	FAS Only	21/12/2021	Tue	Collection for Online Order
29/11/2021	Mon	Collection for Online P4-P6	13/12/2021	Mon	Collection for Online Order	27/12/2021	Mon	Collection for Online Order
30/11/2021	Tue	Collection for Online Order	14/12/2021	Tue	Collection for Online Order	28/12/2021	Tue	Collection for Online Order
01/12/2021	Wed	Collection for Online Order	15/12/2021	Wed	Collection for Online Order	29/12/2021	Wed	Collection for Online Order

Operating Hours: Mon-Fri: 9.00am - 3.00pm

Books supplied by Pacific Bookstores Pte Ltd. Tel: 6559 2269 Email: sales@pacificbookstores.com